> A
A & 0l & AF 2 E A A
20189 = =0l & LB H MK
M HEXH B
M MU (BsL22/H=)
o9l MSME ¥ ABX0IY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
M= XI& 2t 7,651,913 7,743,012 291,099
J| 182,538
< 58,509
Al 7,410,866
Hes (222 /HS) 7,547,193 7,652,632 A~ 105,439
J| 182,538
< 58,509
Al 7,306,146
Hsds & AZ=0HE 3,716,480 2,568,580 1,147,900
= 33,000
Al 3,683,480
Hsds g% X 47,480 47,480 0
201 2et24d] 19,480 19,480 0
01 At 22l 19,000 19,000 0
OB+t 16,000, 000& 16,000
O= &l 3,000,000& 3,000
02 2324l 480 480 0
oz22= & HMA 480,000& 480
202 Odl 25,000 25,000 0
01 = LH 4 HI 25,000 25,000 0
O=A=Z NI 25,000,000& 25,000
203 YR =& 3,000 3,000 0
03 A Z=AH S =AY 3,000 3,000 0
OM=&gA RA 2= 2,000,000& 2,000
OMSAE 23 HRFA 1,000, 000& 1,000
ANZHE2sEIIE N&E 1,070,000 550,000 520,000
< 23,000
Al 1,047,000
301 gEtE L= 550,000 550,000 0
< 23,000
Al 527,000
Ni=td - 2sRSE4= 550,000 550,000 0
OANEANE s7H 2 550,000,000& 550,000
< 23,000
Al 527,000
405 TtabH S| 520,000 0 520,000
01 et EFSFHSHI 520,000 0 520,000
OMBAE s7E =4 HY(OLLE)
510,000, 000& 510,000
OXII ¥ JIEt 22 PL(OHHE)
10,000, 000& 10,000
HMEXASAIH F& 154,000 161,200 AT,200




M HEXH B
Y HSNUE(RHLBH/NS)
Sl HSHE Y AEE0IY (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 8,000 3,000 5,000
03 A2 Z Hl 8,000 3,000 5,000
OFZ U TO 5 S BA 29
8,000,000& 8,000
301 et d=s 29,600 3,200 26,400
09 EALAHIEA S 29,600 3,200 26,400
O&E=(Z)H? S MSEA HIHA AH24
20,000,000 20,000
o018E =T JFA F 9,600,000& 9,600
303 Z& 3 6,400 0 6,400
01 243 6,400 0 6,400
oBEH=sE AFH 2 6,400,000 6,400
307 21201 A 110,000 155,000 A 45,000
02 IS AHE L 30,000 10,000 20,000
OX=2(L)H2AUa =X &L el 224 X
30,000,000& 30,000
04 DIZFHALALSE E X 80,000 145,000 A 65,000
Od=H=Uz =dE FHl X
10,000, 000& 10,000
OMsSHUBLUSZ HaZH X
10,000, 000& 10,000
O (T )RS X Ml 20,000,000& 20,000
oA MSHAH(MHE)=E XY 40,000,000 40,000
SoX=sa XA 477,000 467,000 10,000
307 21201 A 477,000 467,000 10,000
02 QB LA EX 477,000 467,000 10,000
OZRME EXdE E&Hl NA(LER)
60,000,000& 60,000
OZQHE s482¢ &l XN (LER)
70,000,000& 70,000
OZRHMA =8dZEH ¥ 2285 £
10,000, 000& 10,000
OXgNd &x83Hl XN& 160,000, 000& 160,000
OZQNAE L&X A3 7,000,000& 7,000
OXgNAE R+ F4HI 150,000, 000& 150,000
OEQMA B g& XA 20,000,000& 20,000
StuHsE =4 895,000 500,900 394,100
307 glz2tol & 50,000 0 50,000
02 It M AHE X 50,000 0 50,000
OMFMIZTINSsSW Wl XN e N
50,000,000& 50,000
308 A EHHSOIA 845,000 500,900 344,100




AN HEX 0
HH: HSUE(ESHL2Z/MK)
o9l MSNE L AERX0INE CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
08 WEJ|20istE2 X 845,000 500,900 344,100
OuissdEs L =510 22X
210,000, 000& 210,000
oZY = -z MU XA
10,000,000& 10,000
OANdENEHI = -l SEHSUHIIXH
12,000, 000& 12,000
OusXNAHFUHE M=CHal XIF  5,000,000& 5,000
OZSHD+YDAX Y 30,000,000 30,000
ostn2s® &8X =&d XA 10,000,000 10,000
OLISHHSH U SAa4L A2 528,000,0002 528,000
o2 s72& & 40,000,000& 40,000
A -HH HM=Eg2s =S4 350,000 267,000 83,000
307 glz2tol & 220,000 137,000 83,000
03 RIZIEHMEE2IHIEX 220,000 137,000 83,000
OAEAM =S 21A4H K& 190,000, 000& 190,000
OMEAN=E 228 XA 30,000,000& 30,000
308 XXM S0 A 130,000 130,000 0
1037/ 2S0HUHeBHEEALS I 130,000 130,000 0
OUEAZ=IHEH =& 29H X
130,000, 000& 130,000
H223 SHS2Z LT 2H 832 SRS 50,000 0 50,000
307 21201 A 50,000 0 50,000
04 DIZHHALALSE E X 50,000 0 50,000
OHN22s 2MSHERE2H 82 SFUS
50,000,000& 50,000
20184 CHetRE3l&D A2 |KREU3 170,000 0 170,000
307 21201 A 170,000 0 170,000
04 QIZFHALAIH B = 170,000 0 170,000
02018 tHet= 2 &I &= REUHSE
170,000, 000& 170,000
20188 S| M= AY d=UHE 30,000 0 30,000
307 21201 A 30,000 0 30,000
04 QIZFHALAIH B = 30,000 0 30,000
02018F s8I 8= &Y 3& U3
30,000, 000& 30,000
dXEd KX 40,000 20,000 20,000
307 gl & 40,000 20,000 20,000
02 RIZFE MM E X 40,000 20,000 20,000
O&XEEE RXAH XA 40,000,000& 40,000
FHEISISHS D=7 HUH 100,000 90,000 10,000




2M: H

)
M MU (BsL22/H=)
2 MsdE Y AXZX0HE (&)
= (o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 100,000 90,000 10,000
04 QIZHH AL AR 2 & 100,000 90,000 10,000
OMb558 EAHMIAHHSNsF HUA
100,000, 000& 100,000
s7Uz X2 20,000 15,000 5,000
20,000 15,000 5,000
20,000 15,000 5,000
122920 =03 K&
20,000,000& 20,000
8,000 8,000 0
8,000 8,000 0
8,000 8,000 0
ORM43 AHE Al E Y HUASSO H2AU3
8,000,000& 8,000
MENHEUE KA 40,000 30,000 10,000
40,000 30,000 10,000
40,000 30,000 10,000
SEMHEUR K
40,000,000& 40,000
30,000 30,000 0
307 glz2tol & 30,000 30,000 0
04 QIZFHALAIH E = 30,000 30,000 0
OHM11al MEAIEH dIEHHDER HHUE
o 2 BEREUS 30,000,000& 30,000
UAESECH dIMANAEIN el 8,000 5,000 3,000
307 glz2tol & 8,000 5,000 3,000
04 QIZHHALAIRI 2 X 8,000 5,000 3,000
OHM108 MEAIZH AZSES} I MAXH
H & 8,000,000 8,000
d=mH2t01d tHal K& 7,000 7,000 0
307 gl2tol & 7,000 7,000 0
04 DIZHHALALSE E X 7,000 7,000 0
OM158 MEAIZH &= MeA=2ct0lE Hal
N Zl 7,000,000 7,000
S&tEl K& 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 QIZFHALAIH B & 10,000 10,000 0
OHM108 MEAIZH Satial 2 M402 24 E
& HIEHM XI& 10,000, 000& 10,000
= HAAT XSG K& 20,000 20,000 0




M HEXH B
M MU (BsL22/H=)
o9l MSNE L AERX0INE CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 20,000 20,000 0
04 DI2HHALALSE E X 20,000 20,000 0
OM9Z AMAEH 8= HAATX M3
3 A& 20,000,000& 20,000
MEL-S0I2tEUS XS 100,000 100,000 0
< 10,000
Al 90,000
307 21201 A 100,000 100,000 0
< 10,000
Al 90,000
04 DIZHHALALSE E X 100,000 100,000 0
OM133 At =S0tctEUS M=l
100,000, 000& 100,000
< 10,000
Al 90,000
BHCHEAICHE X2 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 DIZFHALALSE E X 5,000 5,000 0
OM328 At AIZBH HHCHSEAICHE! OH =
5,000,000& 5,000
= R0E0 =43 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 QIZFHALAIH B = 5,000 5,000 0
OHM32l AFEAIEE &= 20Et0l - 2S48
3 5,000,000& 5,000
U HYSF)| BIEHEZSE W s 60,000 0 60,000
307 glz2+ol & 60,000 0 60,000
04 QIZFHALAIH B = 60,000 0 60,000
OBCIZEH HYSF)| MILNHESSD 57
Ch3l 60,000,000& 60,000
nsstw AZxF0tel e MsUs X3 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
04 QIZFHALAIH E = 20,000 20,000 0
OHM158 MEAEIN(SLUMAE X 4 HY)
NEsW AZxS0t2 g MU Nl
20,000,000& 20,000
MEHS |4 1,317,612 981,130 336,482
J| 182,538
< 25,509
Al 1,109,565
AMOIH=CHE =l 210,000 0 210,000
307 21201 A 210,000 0 210,000




2N
X ZH -
L= B
el

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
04 SIZ2ISHAAIH E & 210,000 0 210,000
osHsHM=EUz XN 210,000,000 210,000
ANEc MEdslHs XH 127,000 75,000 52,000
201 Yot Y| 38,000 0 38,000
03 A2 bl 38,000 0 38,000
Og-H.-Z ZJ U3 XN 28,000,000 28,000
OXEC MENsUHs KNS 10,000,000 10,000
301 et A= 4,000 4,000 0
09 BAHAIHI 2 &2 4,000 4,000 0
oXNde MEH=sUHs & XA
4,000,000& 4,000
307 2iz2to| & 85,000 71,000 14,000
04 QIZ2tSHALALS B X 85,000 71,000 14,000
oz=Y MEHd=sUa XN 85,000,000 85,000
AMBI2AZZZHD|IE K& 20,000 15,000 5,000
307 QI2t0| & 20,000 15,000 5,000
04 CIZ2tSHAPALS B X 20,000 15,000 5,000
©2018E AlCIAHZ2D|H3 K& 20,000,000 20,000
M23s dad"dE: s0tel s2ia 9,000 0 9,000
307 QI2t0| ™ 9,000 0 9,000
04 CIZ2tSHALALS B X 9,000 0 9,000
OHNP233 BAaET =010 83l
9,000,000 9,000
M32s HBACYZXAD MEHSHEQIHUH S 40,000 0 40,000
307 QI2t0| ™ 40,000 0 40,000
04 CIZ2tSHALALS B X 40,000 0 40,000
ON323 BANSTZXIAD MEHNS BHECIEHH
3| 40,000,000 40,000
MEHSHE X 183,000 183,000 0
307 2izto| A 183,000 183,000 0
02 QIZ2IA AAIE E X 183,000 183,000 0
OZdd oHzd MElysdis 2830 XA
20,000,000 20,000
ozs=24Y MEH=sUs ZH XNE
12,000,000 12,000
OFH? MEM=UHI =83 H XA
10,000, 000& 10,000
OHM293 & MEN=sls &=dZH XA
90,000,000 90,000
OMENE &Y AU F2H XA
5,000,000& 5,000




M MEXE 0
|

H: JRIE(S}LZ/HR)
chelr MEHS 34 CER-ED
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OREN=ANCA Bs0l N (ALHE)
36,000,000 36,000
OMEMSIIE HYATXHE ZUIX 2
10,000,000& 10,000
Mesgs s4 A& 38,000 38,000 0
== 4,000
Al 34,000
307 2Iz2t0| & 38,000 38,000 0
= 4,000
Al 34,000
02 DI AAIE E X 38,000 0 38,000
OANZMENSUS XS 38,000,000 38,000
< 4,000
Al 34,000
MEl s Z20d XK 15,550 19,440 A 3,890
& 4,664
Al 10,886
307 2izto| A 15,550 19,440 A 3,890
& 4,664
Al 10,886
02 QIZIA AAIE E X 15,550 19,440 A 3,890
OMEN=s T2 29 15,550,000& 15,550
= 4,664
Al 10,886
MEHY DA 16,128 20,160 A4 ,032
= 4,838
Al 11,290
307 212t0| & 16,128 20,160 A4 ,032
= 4,838
Al 11,290
03 QIZIHY P ESIHIEX 16,128 20,160 N4,032
oME=was 29H 16,128,000 16,128
& 4,838
Al 11,290
e Mssote s A 12,000 12,000 0
< 5,000
Al 7,000
307 2iz2to| A 12,000 12,000 0
== 5,000
Al 7,000
03 QIZEHEHESIHIEX 12,000 12,000 0
O&Me HM=ssoel &g K& 12,000,000 12,000
= 5,000
Al 7,000
oM E 243 X 33,000 33,000 0




M MEXE 0
|

H: JRIE(S}LZ/HR)
chelr MEHS 34 CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 33,000 33,000 0
02 QIZHA AAIE E X 33,000 33,000 0
0d3dY =0t2 M=Ua &=d8FH X
4.,000,000& 4,000
O &0 MEHMISUHE &=28EH XN
10,000,000& 10,000
o0d3dY =0t =22 Hs sd8FH X
3,000,000& 3,000
OO ERMHa &AL XN& 1,000,000 1,000
OAZE0HC AIOIZ2 U3 &2&8&EH K&
1,000,000 1,000
OLlMd0tHl &= 29 A&
10,000,000 10,000
OAlZ EOQ MEHSUHI &=2N8BH XA
4,000,000& 4,000
ot MEH =X S X B X 128,040 128,040 0
J| 64,020
Al 64,020
307 2izto| A 128,040 128,040 0
J| 64,020
Al 64,020
03 QIZIHEHESIEHIEX 128,040 128,040 0
oLt MEH =X A Hi X 128,040,000 128,040
Jl 64,020
Al 64,020
HEA MEM=SXEZX HH X 128,040 128,040 0
J| 64,020
Al 64,020
307 2I2+0 & 128,040 128,040 0
J| 64,020
Al 64,020
03 UAHHEESAHES 128,040 128,040 0
oza MEd =X =X B X 128,040,000 128,040
J| 64,020
Al 64,020
MEAZX 2 1 280,000 255,000 25,000
307 2Iz2t0| A 280,000 255,000 25,000
02 DIZIBAAIRE E X 280,000 255,000 25,000
OAZ=Z2YE 29 XN 275,000,000& 275,000
OxE0 =2 =208 5,000,000 5,000
AX2ALN Ol2d X 77,854 74,450 3,404
J| 54,498
o 7,007
Al 16,349
301 et A= 77,854 74,450 3,404




M HSXED
HH: MINE(2I}LZ2Z/AF)
chelr MEHS 34 (el @2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Jl 54,498
< 7,007
Al 16,349
01 MBI EEE G2 77,854 74,450 3,404
oOoAZ=x=2% ol2d XA 77,854,000& 77,854
J| 54,498
= 7,007
Al 16,349
H=AE &5 22 1,752,489 3,385, 147 N 1,632,658
SN HEH sS4 Ul ALY 100,000 0 100,000
401 AIEHIL 20| 100,000 0 100,000
01 Al bl 100,000 0 100,000
ORLHSHE SN 3 HH L AXT[ o
Xl 100,000, 000& 100,000
2HE=E2E HHIAY 170,000 0 170,000
401 Al HI L 2 0HHI 170,000 0 170,000
01 A& HI 170,000 0 170,000
oO=2g9=xs3E =Y JHIAMY 170,000, 000& 170,000
SHMEHSAIE =4 100,000 0 100,000
401 Al HIL 20| 100,000 0 100,000
01 A& Hl 100,000 0 100,000
OSSMEMEANE =4 100,000, 000& 100,000
MESAIE 22| 1,382,489 1,235,147 147,342
101 @1 21| 170,013 128,667 41,346
04 JIZtHI2EXNSEE > 170,013 128,667 41,346
ONMSALE2E 8 (SEHSE) 99,726
o0l 2 60,2403 x5H »233! 70,180
oFXE 60,240& x5 48 14,458
SRS E=, 60,2403 x5H x 12 3,615
o=201Z2 S 401 EE & 88,252,000& *13% 11,473
OSUHMEAEY SH3HH o8 10,211
o0l 29 60,240& 150 9,036
o=x0dZza S 401 BEE& 9,036,000& *13% 1,175
oOZEgesd =Y SHZHH 26,141
o 0olg 2l 60,2403 x2H x180Y 21,687
oF X 60,240& x24L 1,446
o=x0AZ S 401 BE 2 23,133,000& *13% 3,008
oddiidsasd dHl 6,808
o 0l£¢] 60,240& 100 6,024
o=20AHZ E 4UHEE = 6,024,000& *13% 784
Oodtx==LXHel& HMSAE =HHY (200 A) 6,127
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M MEXE 0

3 MEE
A

o9 HSAE 25 22 (29 a8)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
oXEssU 4,000,000& 4,000
oty #=2l, KA 22yl 2,500,000& 2,500
206 M Hl 12,000 12,000 0
01 =4l 12,000 12,000 0
OoM=sa &« 28 XYM 2
5,000,000& 5,000
OMsa &« SUHMSANE EXH 7
3,000,000& 3,000
OBEX=EIH & SUHHEAE XYM 2L
2,000,000& 2,000
OMESANEF=zH XHL 228 s & WE 7
Q! 2,000,000& 2,000
oIz2tol A 200,000 200,000 0
DI2HRE 2 200,000 200,000 0
OSEsH MALL /A2
200,000,000& 200,000
401 A& HI L 2 0HHI 642,000 430,000 212,000
01 A& H| 642,000 430,000 212,000
ZARA OIXZXC|] WAl 150,000,000 150,000
OMEAAY S&e&H AH| 100,000, 000 100,000
OQIZXT&C7E HH & 22 50,000,000 50,000
OMESZ2¢, OIMSALEE RAESL & HU|
30,000,000 30,000
ONESHMEAIES AUl Z A 50,000,000 50,000
OMEI=SAIEES Ul SA 50,000,000 50,000
OMSAYE A HH YL 8lA A
60,000,000 60,000
OAIA AFE 2SH =2 HHAY
30,000,000 30,000
OAId AXMEZESESSE 24 L a2 x K|
= @83 &M 50,000,000 50,000
oot=EJ17 &AX 50,000,000 50,000
OUAEHE AMESE ME= 22,000,000 22,000
405 XHA&HF S HI 8,000 125,000 A 117,000
AL 2 FF S| 8,000 125,000 A 117,000
OMSOHZH TEetXY &Yl 2 8,000,000& 8,000
| 760,612 717,775 42,837
S 22 655,612 542,775 112,837
o4 d| 326,112 219,375 106,737
2R 2 ANSE 4 326,112 219,375 106,737
OF=YZAY 22| 212,624
o Ol 60,2403 7 %233 98,252
oFXxY 60,240& 7 48 20,241

_11_




AN HEX 0
HE: MRS (SHLBB/MS)
el ALY 22 (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
oIt 60,2403 x7H x 12 5,061
os5d22aYH 90,3603 7 48 30,361
cAZ2AZ2RE 11,300 73 x225A] 2t 17,798
o=0dg S 401 EE&
171,711,000& »13% 22,323
o g &l 8,000 »7H »48L 2,688
oIl sl 100,000 »7H »23| 1,400
SPS RS =) 2,900,000& x5H 14,500
OYgsl+Pua Ot X I2Y 5,795
oQlf 66,6003 x2H 31! 4,130
ocsd2RaYH 99,9003 »2H x5 999
oFig 66,6002 x2H x5 666
OMS XXt 76,461
ool 66,6003 x2H x233 31,036
SN EE = 66,6003 x2H x48 6,394
oIt 66,6003 x2H x12 1,599
o522 99,9003 »2H 48 9,591
cA2AZRE 12,4903 x2H 225 A 2t 5,621
oAz S 401 EEE 54,239,000 x13% 7,052
cJllZ¥g 1,500,000& »2H »43| 12,000
o P E FOHI 500,000 x2H x23| 2,000
o g &l 8,000& »2H 48 768
oIl =l 100,000 »2H x23| 400
QJIIHAZEXR 31,232
ool 66,600& 233 15,518
oFXtrg 66,6003 48 3,197
cHIt+¢ 66,6003 x12 800
os5d22RYH 99,9003 »48& 4,796
cAZAZRE 12,490 2251 2+ 2,811
o0z S 4UEEE  27,120,000& *13% 3,526
o g &l 8,000& 48 384
oIl =t 100,000& »23| 200
201 Let2d] 287,500 278,400 9,100
01 At 22l 43,500 33,400 10,100
OgBt+=&H| 20,000,000& 20,000
O= &l 10,000, 000& 10,000
OYUXZ (A, HA) 2,500,000& 2,500
oYd, HA AUEd 3,000,000& 3,000
O=&Z&dA, 2€d, JtA, 222
2,000,000& 2,000
O==F2ZA HP2X HEW=H 1,000,000 1,000
O=Z& o4 425 7Y 5,000,000& 5,000




AN HEX 0
B NRIE(2HLBT/UK)
Sl AT 2 CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 =224l 244,000 245,000 1,000
03323 % HA 72,000,000& 72,000
OAZHI (ZAIIEA) 100,000, 000& 100,000
O LHAZ AL, JIH, &, 252, &g, &I
==& i 50,000,000& 50,000
oxtgedett (= &H2A) 22,000,000& 22,000
206 M= Hl 42,000 45,000 A 3,000
01 M= 4l 42,000 45,000 A 3,000
O3 A=AZF P2 30,000,000& 30,000
O=gZ JIA MM ¢ 5,000,000& 5,000
0+YT PUY A L 23 7Y
5,000,000& 5,000
O=g& MI,HAF2 UM 2 2,000,000 2,000
AU=ZE AL SZHH 105,000 175,000 A70,000
401 AIEHI L 20 70,000 155,000 285,000
01 A& HI 70,000 155,000 285,000
=2 24 wi 45,000,000& 45,000
O+=ZF WX ds¥it 9 25,000,000& 25,000
405 TtobH S 35,000 20,000 15,000
01 et EFFHSHI 35,000 20,000 15,000
ogAllz 2 20,000,000& 20,000
O3 =& U= I Fg 15,000,000 15,000
HY2FZH (MSXIA ) (IIEH/IIEL) 104,720 90,380 14,340
ol 2 gl 5,000 5,000 0
ol 2AY| 5,000 5,000 0
101 @124l 5,000 5,000 0
03 RIHAZ 22+ 5,000 5,000 0
o=l 5,000,000& 5,000
JlE &3l 99,720 85,380 14,340
JlE&l 99,720 85,380 14,340
201 €24 7,500 7,500 0
01 At 22l 7,500 7,500 0
OBt~ 5,000,000& 5,000
O= &l 2,500,000& 2,500
202 Odl 87,360 74,880 12,480
01 = LH 4 Hi 87,360 74,880 12,480
O=UEZ NI 280,000& 26K x12& 87,360
203 R =& 4,860 3,000 1,860
04 FN2ELRZ=TH| 4,860 3,000 1,860
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